TR 2845 A 17H

EKFL20100 HASkmEHES
KA T

AA Y — FOBFRIBREEP.IE. Qa2 ) — b —VKEIRT DIGEDFHEEP. &, QERBHOMNE
WHEIZLHEFEEP..D. WTFhArD/NEVEHEBZERERT 5,

Oa—RBIRT HBEDEHE

AV —bERFICEBRSN AT — M R H Y DEF

BRKTIRFZEIR (RHRERST) BN, BAREZFSRESRIBEREHEH OEMT

Ac=m-le- (le+D) FUoh—RILENDEZEHESELL. ROXTEFENS,

P.. = ¢ - 0031 Fc - Ac

Por @ I—URBEICEYRFELS UH— M RYEYOFESIED (N)
¢1 : EREFRH (REEER1/3 \HEER 2/3)
Fc : avyU—bOFREFEERE 0N/md) THET S
Ac : aAVHY—+OI—VEBEEOAKTREERE (M)

B3R EHRZETE Ac DFHE
le : 419 —Fr2K 100 (mm)
D : A Y—rHHEE (FUER) 32(mm)
Ac = 3.14 x 100 * (100 + 32) = 41448 (mm?)

@O-L #R51RFE (RYIFTER)
Poiu= 1/3 % 0.31/730 * 41448

23459 (N) = 23.5(kN) (3%2398kg)

46917(N) = 46.9(kN) (3¢4786kg)
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P.o. = D32 AFRE & 100 (mm) x 100 (mm) % 1. 8 (N/mm?)
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Po2s = P.2L x1.5

18000(N) = 18.0(kN) (3%¢1837kg)

27000(N) = 27.0(kN) (3%2755kg)
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HFASHREEP.IX. REAT ER 18. 0(kN) (%1837kg) HEHATIERF 27. 0 (kN) (3%2755kg) &9 %,
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BEMRIL MREEFTE 15. 2 (kN) (3%¢1551kg)
(BRERD4.8) RILEbRELES LT 5)

BEARIL MREEFTE 40. 6 (kN) (3%4143kg)
(BRER10.9) (RILbREXRDS £T5)

TARILMERTE 6. 18 (kN) (3¢ 630kg)



